
Name _______________________________ Date __________________ Period ___________ 

 
9.2 – Matrices II 

 
I. Perform the indicated operation. 

1. 

















 02

51

13

21
 

 
 
 
 
 
 

2. 

















 84

82

59

24
 

 

3. 







































100

010

001

668

180

237

 

 
 
 
 
 
 

4. 









































653

864

409

322

905

619

 

5. 









































57

52

45

24

03

80

 

 
 
 
 
 
 
 

6. 

















 

225

392

285

712
 

 

II. Given the following matrices, perform the indicated matrix operations. 

           A = 



















42

52

31

          B = 

















 62

17

94

           

7. A + B = 
 
 
 
 
 
 
 
 
 

8. A – B = 
 

9. –2A =  
 
 
 
 
 
 
 
 

 



10.                Women in Labor Force (millions)                               Subtract the two matrices.   
                                                                                                            What does this result represent? 
             All Women                     Women with Children 

           *OtherMarried                          *OtherMarried  

   

















2.251.31

2.250.31

7.245.30

1991

1990

1989

                   

















8.56.16

7.55.16

5.54.16

1991

1990

1989

 

            *widowed, divorced, separated, or single 
 
Does adding these matrices give a meaningful result?  Justify your answer. 
 
 
 
11. Last month a manufacturer shipped three computer models to two warehouses.  The units  

 shipped are shown in the following matrix: 
                                                               This month the company wants to double the number of units.   

            2whse1whse                              Use scalar multiplication to find the number of units to ship. 

















4025

4560

50100

CModel

BModel

AModel

 

 
III. Solve for the variables. 

12. [
𝑥 + 2 8
2𝑦 2𝑧

] = [
2𝑥 + 6 8
18 −8

] 

 
 
 
 
 
 
 

13. [
2𝑥 8
𝑦 −6

] + [
3 −2
𝑥 5

] = [
5 6
3 −1

] 

 

14. [
2𝑥 − 5 4

3 3𝑦 + 12
] = [

25 4
3 𝑦 + 18

] 

 
 
 
 
 
 
 

15. [
𝑥 + 8 −5
3 −𝑦

] = [
38 −5
3 4𝑦 − 10

] 

16. [
3𝑥
4
] = [

−9
𝑦 + 6

] 

 
 
 
 
 
 
 

17. [
2 2
−1 6

] − [
4 −1
0 5

] = [
𝑥 𝑦
−1 𝑧

] 



 


